Mathematics 9 Date:
Day 5: Review Unit 4: Word Problems

Answer all questions in your notebooks, using FULL SOLUTIONS.
Number Problems

1. b) Determine three consecutive even numbers with a sum of 252.
Ae # n,ntZ, 4y be. fle Numbers
= 2972
"b,q =+ L-6 = 252—%

Dn = 24k
b 3
n-= 8‘1-
27., SL;I 86

d) Two numbers have a difference of 123. The larger number is 22 more than twice the smaller.
Determine the numbers.

J’\&"’ “5” be. He SMQHE/ nuna be—

smalle~ | 12734
s 23427
2s+22 -5 =123
s 2= 123-27

G<ol]

C The semaller numbe s [O]
larger  Numbes 15 2(101)+12 = fo,“”
- 1

e) The sum of two numbers is 249. Twice the first number plus 3 times the second number is 591.
Determine the numbers.

het F" be e first numbes

Ig.|. zn-‘
£ \ 2ud - f

2£ + 5 ?.uCl—F) =959)
2t 4 FUTF-3F = 59
e I s LA TR L K

= 7156

1 =1
= 196
Money Problems: D

2. ¢) Ron has $21.90 made up of dimes and quarters. If there are 117 coins in all, how many quarters
are there?

det “q" be te numbes  of Quartes
quarters | dimes

Tie (s numbe (s IS4
2_'"‘ numbe [y Ayq-156 =93

q ) 112-9
299 + lo(ln— -q)-a 2\9°0 > [leve ve 6% quow‘eci
Q.")-q . n< 0-\9:1 =2\119°
l-’,‘q“\}o-ll'io__ 2190 -I1#°
59 = 220
—:; Ty
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e) Helga has $300 made up of $5 and $10 bills. If there are 3 more $10 bills than $5 bills, how many
$5 bills does she have?

et £ be 4l aumbe 35 uills
:{;5-[,;“_., ) g1o Lilly
£ | F42 .
Sp s lo(F43)= 300 Helge bes 17 57 Bils

5f 41lof 130 <%0o
I5£430-3)= %0° -2

sf - 270
5 5
$= 1

Other Problems:

3. a) The length of a rectangle is 7m longer than the width. If the perimeter of the rectangle is 194m,
what are the dimensions of the rectangle?

et "B Le  He woidth
Lot , Tie woidbh is 45w od lngth

w ‘ ! ' (s 52w,

2 u-tuo-*'?') =y
2 (2w+¥+) =1%

Uw+ly=t4y=194 -1y

4

Challenge Problems

4. a) Alarge billboard has a length measuring 5 metres less than triple its width. The perimeter of the
billboard is 110 m. What is the width of the billboard?

het "' be He ca'dth

Iw-5

~L ]

2 w+3w-§)=l|o UL TTle vordth 1y 1T

2 (4w=-5) = I
Jo-lotl = | 1nt0
oo =120
¢ ¥
= |5

§
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c) On atest, some problems were worth 5 marks and others were worth 4 marks. Andrew correctly
solved 18 problems and got a mark of 83. How many 5-mark problems did he correctly solve?

let """ Le 4 numbe of G-wmark froblwa

Smark | Umerk
! \ 15—

5++ 4Ot-£)=¢3
Sf+72-4uF =83
-P-}?'?._'??—': 8§3-32
[£<U
O T Thee = Il S-marle {arob’w:

e) George’s teacher refused to reveal her age. After being begged for a hint she finally admitted that in
12 years she would be three times as old as she was 20 years ago. How old is she?

Pas+ | futue het "a'l be He 4eeles age

Q-20 \ Q+ 2

~ N\
a4+l = 2)(Q'2-0)
q-n'z*; Va-60+ko

-a
Q4 ?—:.1 :Zi;q -9 N SL: \_s 36:’-:@«4 old
- =

f) A piggy bank contains twice as many quarters as dimes, and half as many nickels as dimes. There

are 91 coins in total. How much is in the piggy bank?

le+ “d-” e vumbe of- o res
Nickels , oinnes aquaorrtem
-—%‘ ( d u we_ l’lQl/C-
2 nickels
—i_+d+2d=q’ ,?Ld:‘me.‘
S 43 = Al 52 5,'4014-\:/)
2 ‘L"l (
~otal = 5(13)+26(10)+52(27)
d‘*&"’d - - 65+ 2604 %07
+d _ Aql _ b2y
o b;g-:- ¢ 41617 in He bank.
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